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Introduction

(Cross section Line shape)

» Cross section line shape of ete — Yisw K*K'K*K".
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» Possible narrow structure around 2.3GeV.
»ete—>@P(1020)K*K channel dominants the K* K" K* K" final states.
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Events/0.015 GeV/c’

Introduction

(Cross section Line shape)

» Cross section line shape of ete— ¢$(1020)K*K".
> Search of Y('?) —>c|)(1020)K+K
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»Regionl and Figure(b): ete—-Y(217 5)—>c|>f0(980)—>K+K'K+K' process.
»Region 2 and Figure(c): ete—=X(2300)-¢K+*K  -K*K'K*K" process.

»Region 3 and Figure (d): ete—=X(2700)-¢ f’,(1525) -K*K'K*K" process.

Due to low statistic, BABAR do not give any explanations of these structures.
Studies with R-scan data may shed light on these possible structures.
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Data sets and MC simulation

1. BOSS665p01.
2. R-scan data sets: (in 2012 and 2015)

Vs (GeV) | Lum. (pb?) | | Vs (GeV) | Lum. (pb?) Vs (GeV) | Lum. (pb™?) Vs (GeV) | Lum. (pb™)
2.2324 2.64 2.981 16.071 2.6444 33.722 2.200 13.699
2.400 3.42 2.950 15.942 2.500 1.098 2.175 10.625
2.800 3.76 2.900 105.253 2.396 66.869 2.150 2.841
3.080 126.185 2.800 1.008 2.3864 22.549 2.125 108.49
3.020 17.290 2.700 1.034 2.3094 21.089 2.100 12.167
3.000 15.881 2.6464 34.003 2.2324 11.856 2.050 3.343

2.000 10.074

3. 100K Signal MC by “ConExc” at each energy point.

(1) et e= K*K'K*K

(2)ete = ¢ KK

(3)ete->odf,(1525)
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Event selection

* Good Charged Track:

|V,| < 10.0 && |V,.|< 1.0 && |c0s0|<0.93;
N¢oo.d ==3||4; (To improve detection efficiency: Missing one Kaon.)

- PID with dE/dx and TOF:

Kaon: prob_K>prob_p && prob_K>prob_m;
At least three Kaons are indentified:
N(Kt) =N(K)=2; or N(K*) =2 & & N(K) =1; or N(K")=1&&N(K) =2;

* Vertex fit (KtK'K%).
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@3080MeV: L=126.185pb*
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(1) Xertexsit (KTK'KTKY) distribution;

(2) K_Missing Fitting :
Signal: MC® Gaussian;
Background: Polynominal;

N=3408.21+80.3
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@3080MeV: Momentum
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@3080MeV: L=120.56pb™?

» To study backgrounds, MC topology analysis is performed with
inclusive MC sample.

»Dominant signal is ete” = pK*K ,ete = K*K K*K.

No. decay chain final states iTopo nEvt nTot
0 ete > K K¢, d > KK ete” > K'K"K K~ 0 1201 1201
1 e'e” > KK K'K* ee” > K'K'K K~ 1 384 1585
2 ete” > ¢pp, p > K KY, p > K KF e"e” - K'KTK K~ 2 169 1754
3 ete” > K pn'K*, po -»an’ ete” » K'ntn'n K- 4 2 1756
4 ete” —» K nn'rtn*K*, K* - nK* ete” » K'ntntnn K- | 3 | 1757
5 ete” > K nnK*, n—->vyy, K > n K" ete” - yyK'ntn K~ 5 1 1758
6 ete” » K nntwK", w— nn'n" ete” » K'ntntn®n K | 6 1 1759
7 ete” > K nnnK*, n—vyy ete” - yyK'n"n K~ 7 1 1760
8 ete” > K pK*, pt » 2", K* -5 n Kt | efe” - K'na'n K- 8 1 1761
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@2125MeV: L=108.49pb""
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(1) Xertexsit (KTK'K*KY) distribution;

(2) K_Missing Fitting :
Signal: MC® Gaussian;
Background: Polynominal;

N=448.8 + 24.1
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@2125MeV :Momentum
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@2125MeV :Momentum
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Events/(0.001GeV/c?)
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Cross section: o(ete— $(1020) K*K")

Nobs
A (1+85)VPx (1 + 5)IPRx ¢

>Nobs: js from the fit to M(K) distributions.

>L: is integrate luminosity.

»>(1+0)VP: is the correction factor from vacuum polarization.
> (1+0)'SR: is the ISR correction factor.

>¢. is the selection efficiency from MC simulation.
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Cross section: o(ete— $(1020) K*K")

Vs (GeV) Lum. (pbY) N (1+8)R £(%) Br o (pb)
2.000 10.074 + 1.0 +
2.050 3.343 + 1.0 +
2.100 12.167 18.245.7 0.8262 7.36 1.0 23.747.4
2.125 108.49 385.1421.5 0.8563 12.33 1.0 35.6+19
2.150 2.841 19.2+4.7 0.9416 17.09 1.0 4494110
2.175 10.625 111.1411.3 0.8809 22.71 1.0 52.6+5.3
2.200 13.699 217.9415.7 0.8760 27.23 1.0 68.244.9
2.2324 11.856 363.6+20.0 0.8563 32.80 1.0 100.345.5
2.3094 21.089 676.4428.3 0.9326 40.99 1.0 83.243.5
2.3864 22.549 901.4+32.2 0.9410 47.94 1.0 88.3+3.2
2.396 66.869 2795.3456.1 0.9442 49.22 1.0 89.9+1.8
2.500 1.098 53.5+7.8 0.9584 56.69 1.0 89.7413.1
2.6444 33.722 1697.6+45.7 0.9758 62.78 1.0 82.2+42.2
2.6464 34.003 1703.0+44.2 0.9804 62.44 1.0 81.8+2.1
2.700 1.034 44.046.6 0.9806 64.87 1.0 66.94+10.0
2.800 1.008 35.1+6.7 1.0021 67.37 1.0 51.6+9.8
2.900 105.253 4051.6+70.1 1.0195 68.83 1.0 54.9+0.9
2.950 15.942 571.4427.9 1.1228 68.87 1.0 46.442.3
2.981 16.071 527.1427.2 1.0689 70.04 1.0 438423
3.000 15.881 503.4426.1 1.0208 70.34 1.0 441423
3.020 17.290 554.0427.8 1.0423 70.59 1.0 43.542.2
3.080 126.185 3408.2+80.3 0.7090 72.49 1.0 52.6+12
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(Same behaviors in BABAR results)
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» Cross section

Summary

measurements ofete-— Kt K- Kt K-.

» Comparision of this work and Barbar’s results.
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Hadronic MC @3080MeV

No. decay chain final states ilTopology  nEvt  n'lot
0 ele” —A* " = K'TK- KK~ K K K'R' 3 2604 2694
1 ete” w4t = KYK-ata™ K nt K 1 1463 4157
2 etem — At — Ry, RA — K"K K"K~ K K wK'K? 7 B8l oO3s
3 etem wt ot = K'RPo (K — K T KK 27 a8l 5419
4 etem w4t = By, B — K"K~ f.;.{LTlIJ:I fall710) — K- K K-K—yKtKH 2 60 BT
5 ete —.~“‘ v —=K*K-at,K* — Ktn- K- nt K 4 M6 6125
i l:"c’_—f'j‘_’j‘—*ﬂ,g_r.ﬁ,ﬁ—’*fxlfi mha I S a 423 G445
T ete — 't — Ry, By — foli VK, f; —~ KtK- K-K-7K VK" 0 321 6769
:-I == oy "‘.-"' — . — - - ’ . ) Y — "+ "__ o —_

s 1,7 Ryv. Ry — KK~ (1380), 1y (1380) — K*" K~ K K-K-xok K 16 s 7027
ot e— ot At — f — KKt K —

o 1= Ry, By — K~ hy(1380)K, hy (1380) — K*~ K+ K K-K-mi Kt 1 93 70
= T Ty - —s — - F R e 70 Lre .

10 }{_n:"rl o PR R” .:R” K .Ir.|| [lSSE]]Ix 5 |r|'| I:J.-EE[]:I KK K I{_Ii-_ﬁr,l,'n'l'l ":-'fi.- } 99 164 7414
Hem = 4yt — Ry B — hy (L380)K PR~ Ry (1380) — K*R°, K+ —

T a7 e = i (1380)K A5 sl K KK KT 23 135 7549

12 etem — gt vt = Ryv, Ry = K*Kta— , K* — K1 I S R LT 119 T G6s
"I"_—"“‘“r"—!' —_ I - —_ o — o) =

13 };-—.;.(T_ + Re~v, Re hi(1380) K YK .f.'|l:lﬂﬁ[]ll KN K T KKK K 12 116 TR
te™ — gt ot — Ry, B — b (L3800 Y R~ Wy (1380) — RPN K+t —

(T w7, R = R (13B0)KTHT, i (1380) — K : K-K-Kpr'yK* 36 107 7801

15 etem =gty = Rav, Ry = RA*K—at. K" — Kta- T K- atyK? 34 103 To94

16 etem — gt = KK —pg" g% — ota— a K- at K K T s068

17 etem =ty = KK ot KO0 — Ko~ a K- at K A0 55 5123

18 ete” =" = K"K'trm I”':' — Kta~ T KTR GG 49 5172

19 ete” =" — Rpy, Rg — K"K K1K- KKK K" 37 AT 8219

20 eteT — gt = Aav Ry — KK p" o —ata™ 7 K-t EH 61 45 5264

21 etem =yt — Ry, Re — f(14200K K, f1(1420) — KV R 7" K-K-n'v KK+t 32 45 8309
A e— ""." y f— . — ot T . ’ Y — K* FD_ i _

n o . ;*I‘TU"TD Rpv, Ry — KYK~h (1380).h (1380) — K*K° K K-K-xonntnkt 69 o san

23 etem =gt —"HAH:{_RA — KVYK~ KK L5 43 5394
"I 2T — ""'" i — ~y — - T b L T ~a g0 ok

T Rpv, Ry — KYK~h (1380).h (1380) — K*R° K K- nOmOn K K 19 8130

Ktx—, H.\ —
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Hadronic MC @3080MeV

No. decay chain final states iTopology  nEvt nTot
0 ete” =A% ~* = KTR-KtHK- K-K-K*K+ 2 2604 2604
1 ete” =" v* = Rav,Ra— K*K-KVvK~ KK ~KYK+ 6 180 2784
2 ete 4t At o KHK-nha— " T K -ntAy K 5 136 2920
3 ete —'4* = Rpy, Rp — KK~ fo(1710), fo(1710) — K~ K+ KK K+ K+ 1 119 3039
4 etem =A% 4" = Rpv.Rp — LK K. f, = KTK~ K K ~KtK+ 0 105 3144
5 eter —atqt s Rpy. Ry — f(1T1I0)K K, f,(1710) — K- K+ KK +KtK+ 3 103 3247
6 etem — 4t — Rpy,Rp — KK fo fo — K+K- KK +KtK+ 8 103 3350
T oetem — 4" 4% = Ry, Rp — K- fi(1T10) K+, fi,(1710) — K- K+ K-K—~+K+tK+ 16 63 3413
8 ete” =" 4* = Rpv.Rp—- K f,K*,f, = KTK~ K-K—~KTK+ 19 53 3466
9 ete” 44t - Rav. Ry — KYK-nta™ mK—atyRK+ 14 36 3502

10 ete” —~".74* = Rpv.Rp — KK~ KVK~ K-K-K+K+ 15 26 3528
11 ete” =% 4* = Ryv. Ry — K*Kta- K* — Kto— R G 10 20) 3548
12 ete” — 4% 4% = Ayv,. Ry — KtK—ata—7° a~ K- ntyyy K+ 13 20 3568
13 ete” — 4% 4% = Ryv, Ry — KK 7t , K* - Kta— K atyKt 20 16 3584
14 ete” =A% A" = Rpy.Bp — K KYK K+ K-K~K+tK* 27 12 3506
e — — B — T \ — R P .
15 ke T KK fo(1710)fa(1710). £o(1710) K-K-yK+K+ 37 6 3602
16 ete” =" 4" = RBpv, Rp — KWWK b — wr”.w — o= ata” a K- atyyyyy K+ A7 G 3608
17T efe” =% 4% = Rpy, Bp — K~ K+ h(1170), by (1170) — p"z"%, p" — oFa~ T~ K- mtyyy K+ 12 5 3613
18 ete” =" 4" = KYRH nha g —= 4y I (G ] 9 4 3617
19 efe” —=yf4Y - KK —at KiY — pm K+ p~ = o a” 7 K—atyy K+ 23 4 3621
20 ete = A4* A = KPR oha g — o'z 7 T K—atyyyyyy K+ 39 4 3625
21 etem —at 4t — Rpv.Rp — fafo(1710), fo — K*K—, fo(1710) = K-K*+ K- K-yK+K+ 24 1 3629
22 eteT A4t At S Rav Ry —= KPR p p? = ohe— K atyKt 54 3 3632
23 etem =t 4t = Rpy, Rp — (LT K-K+ b (1170) — p=ntp” — 777" g K-zt K+ 31 2 3634
24 ete” — 4" 4" = Rpy, Rp — ha(LIT0) K- K+ b (1170) — p"7", p" — otm o K-mwhyyy K+ 34 2 3636
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Hadronic MC @2125MeV

Mo,  decay chain final states iTopology  nEwvt  n'lot
0 ete” —a* " — Rpy. A — K K"K~ K K"K 7K'K' 3 had A4
1 ete” =4 = K'K-ata™ a K nt K 5 i 208
2 ¢tes =4 = K'K-K'K~ KK K'K' L 250 1157
3 oete =4 = Apv Ra— K'K-ata~ a K atyK! 0 213 1370
4 etem =t — o fa(980), ¢ — KT K, fu(980) — KT K~ KK K'K' i 13a L5006
5 ete” =4 " = K*R'a  K* — K'tn~ aa KYK T 109 1615
6 ete” —4* " = K*K 7", K* —Kta~ a K nt K 2 105 1720
T ete” =4+ = RAgv. Ry — KK =" K*—=K'n™ a K atyK! 4 20 L&00
8 ete” =4 " = RAgv.Ra—K'K"K'K~ K-K-qKtKt 16 Gl L=61
9 etem — o v — Rgv, By — K*K'ta- K — Kta- aoa KR L7 el 1920

W0 etem — 4 = KRG g% — ata- m K- atK 10 ) 1978
11 etem — v — By, Ry — KV p" p" — gtg- et A g 42 2020
12 ete” =gt =g nt. g = KK~ a K ntK L4 37 2057
13 ete” — 4ty — Ray, Ra — ofa(980), ¢ — KK, fy(980) — KPR~ KK yK'Kt 24 33 2090
14 ete” =% = RBav, Rqa — KYRE~ KR! 15 a2 2122
16 ete” =4 = Rav,Ra— K R'a" K*~ — Ko K7y K 22 25 2147
16 ete” =4 = K PR-7 Kt — K'qa" Ko7'k 23 23 2170
1T ete” = 4* v = KR 77" Ko7'k 12 23 2193
18 ete” =4 = K Ki7',K*~ — K" Ko7'k 34 23 2216
19 ete™ — gt — g fo(980). ¢ — KT R~ f3(980) — ata™ - K-at K1 11 20 2236
201 etem — 4t —wRH K~ w—a-atat g~ K-a"rt Kt 29 19 2255
21 etem — 4ty — Rav, Ry — KPR Kt — Kgl Fiamt b SL 20 18 2273
22 etem =yt vt = gy — KTR- KR! 21 16 2259
23 ete — oyt —R;;';-.R;;—*I{_I{'?r_?r' g~ Kotk ) 16 2305
24 etem — Yot = R, Rg — g at.g— KK~ o K- atyK 19 14 2319
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Hadronic MC @2125MeV

kMissing: Kmass[0.4,0.6]

Mo, deecay chain final states iTopology  nEwvt  n'lot
0 ele” —4*.+* = RBpy.An — K KK K K K qKTK'! 1 a09 409
1 ete” = 4* o = KTK-KTK™ K K KtK! 0 257 566
2 ete” —4* 4" = RBpy,Byp -~ K"K KK~ K K qKtK! 3 217 7R3
3 ete” — 4ty — @ fp(980), ¢ — KTK~, fu(980) — K YK~ K K KtK! 2 134 17
4 ete” =4ty = Rav Ry — KK KVYK~ K K qKtK! 4 6l a7s
5 ooete™ — 4ty — Ry, Ry — ¢fa(980), ¢ — KK, fy(980) — KPR~ K K qKtK! i 33 1011
6 ete” =4t =KK™ KK g 3 1014
T ete” =4t v* = Rav, Ry — KTK™ KK T 2 Lo1a
8 ete” =4 = Rav, Ra— K Kta" K*~ — K7 K= yypyy K & 1 017
9 egtem =t v = Kt wto—mp—a-atal mor- K-rtatyy K i 1 INES
10 etem — gt v — KPR -l K+t — Ktgt ey K L0 1 1019
11 etem — 4o — Ry, Bg — v et K- K+ta® 5 — g—mtal a-a” K- atatemmpyy Kt 11 1 1020
12 ete” =4 " = KT K ata~ap— 4 A K w ey K 12 1 Loz1
13 ete” — o Yot = K FE gt a" K~ xt ":r":-‘f‘[l L3 1 Lo22
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BesEvtGen-00-03-18(xs ter.txtl)

/besfs/users/sunyk/my _run665-p01/Y2175/KpKmKpKm_V1_Missing/MCData/PhiKK_MC_V5/3080/PhiKK_ConExc/root

Mo, decay chain final states iTopology  nEvt  nTot

0 ete” =4 = gR"K- .0 = K"K~ K K- KtR! L LE4Z2R  LG42E
1 ele™ =% o = R4 By oK "K- ¢+ KTRK~ KK vKtE! 0 15453 T1E&1
2 gtem —q Yot — gl ' K ypsm g — KtE- vpepi KRR 2 482 72363
3 etem — Yot = R Ry — o PR ~vpap.p — KR vpeph K KtK1 3 102 T2465
4 etem — ":':’fr‘ —* I:I.'I‘:I K .p— Kt K vpsg s K TR bR i 1& T2483
h [ I e — * ) "'tr‘ — i I I{_r:'.l'".‘!-'h’.’: FaR.Qp — Iy I K- 'fr.l.'tq;lrr":.',l-'.-.;,l.fhr_ K K I K I T 2 T2485
6 ete — o Yoyt = v Ravpsr iy — YO (G I vpeph K KtK1 4 1 T2486
7T etem —q Yot = R Ry — o PR T — K K™ vpan vpeph K KtK1 h 1 T2ARTY
B h

5000 — Entries 72487
N Mean 0.4954
L BMS 0.01943

4000_—
- Analysis V5

3000—

2000—

1000_—
_I . 1 1 1 1 | 1 1 1 I 1 1 1 | 1 1 1 1

8.4 0.42 0.44 0.46 0.48 0.5 0.52 0.54 0.56 0.58 0.6
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BesEvtGen-00-03-18(xs ter.txt6)

/besfs/users/sunyk/my_run665-p01/Y2175/KpKmKpKm_V1_Missing/MCData/PhiKK_MC_V5/3080_test_V5/PhiKK_ConExc/root

No.  decay chain final states ilTopology  nEvt  nTot

0 ete” =4 =K TR g = KTK~ K- K- KTK! 1 400500 40050
1 ete” =4 " 4R 4 Ba—oRK"K™ ¢ — KTK~ K K ~K'Kt [] 0838 GOSER
2 ete =4t " = oK VK ypsp, o — KT K™ vrspK K- KTKT 2 312 70200
3 ete” =" " = 4R, Ry — oK YK ypsg. — KK~ vpepK K K TR 3 217 70417
4 ete =4 " = oKTK ™, ¢ — KK vpsp vrspK K- KTKT G ) 0425
5 oete” —4* " = 4R, Ry — oK "K™ ¢ — K"K vpan vpepK K K TR 5 5 70430
6 ete” — 4" " = vRavpsn, Ba — oK TK™, ¢ = KTK~ vpepK K K TR 4 5 70435
T ete” w4 " =Ry, Ry — ¢K " K ypsnypsn. ¢ — KTK™ YrsavpseK K-y KR T 1 70436
8 ete” =4 " — oK VK vpsnvpsn ¢ — KTK™ Vpaspvrsph K- KTKH B L 437
C h

2500 - Entries 70437
- Mean 0.5006
C RMS 0.02602

3000—

2500—
- Analysis V5

2000

1500 —

1000{—

500 —

: L 1 1 | | - 1 | 11 1 | 11 | | 1 11 | 1 1 1 | 1 1 1 | | - 1

=

B. 0.42 044 0468 048 0.5 0.52 054 056 058 0.6
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Comparision of Cross Section

Energy Eff_PhiKKISR Eff*ISR Cross  Cro_Err Eff KKKKISR  Eff*ISR Cross  Cro_Err
3080 0.7249 0.7090 0.5139 52.5551 1.2382 ***(0.7497 0.7090 0.5315 50.8145 1.1972
3020 0.7059 1.0423 0.7358 43.5466 2.1852 ***(0.7324 1.0423 0.7634 41.9734 2.1062
3000 0.7034 1.0208 0.7180 44.1470 2.2889 ***(0.7305 1.0208 0.7457 42.5092 2.2040
2981 0.7004 1.0689 0.7487 43.8096 2.2607 ***0.7266 1.0689 0.7767 42.2281 2.1791
2950 0.6887 1.1228 0.7732 46.3531 2.2633 ***(0.7150 1.1228 0.8028 44.6475 2.1800
2900 0.6883 1.0195 0.7017 54.8564 0.9491 ***(0.7128 1.0195 0.7267 52.9693 0.9165
2800 0.6737 1.0021 0.6752 51.5755 9.8449 ***(.7008 1.0021 0.7023 49.5840 9.4647
2700 0.6487 0.9806 0.6361 66.8977 10.0346*** 0.6771 0.9806 0.6639 64.0917 9.6138
2646 0.6244 0.9804 0.6121 81.8177 2.1235 ***(0.6527 0.9804 0.6399 78.2653 2.0313
2644 0.6278 0.9758 0.6126 82.1799 2.2123 ***(0.6575 0.9758 0.6416 78.4640 2.1123
2500 0.5669 0.9584 0.5433 89.6786 13.0746*** 0.5962 0.9584 0.5714 85.2714 12.4321
2396 0.4922 0.9442 0.4648 89.9446 1.8051 ***(0.5219 0.9442 0.4928 84.8313 1.7025
2386 0.4794 0.9410 0.4511 88.6162 3.1754 ***(0.5080 0.9410 0.4780 83.6272 2.9966
2309 0.4099 0.9326 0.3822 83.9118 3.5108 ***(0.4406 0.9326 0.4109 78.0593 3.2659
2232 0.3280 0.8563 0.2808 109.1997 6.0066*** 0.3491 0.8563 0.2989 102.5871 5.6429
2200 0.2723 0.8760 0.2385 66.6848 4.8047 ***(0.2896 0.8760 0.2537 62.7012 4.5177
2175 0.2271 0.8809 0.2001 52.2668 5.3161 ***(0.2352 0.8809 0.2072 50.4668 5.1330
2150 0.1709 0.9416 0.1609 42.0060 10.2827*** (0.1728 0.9416 0.1627 41.5344 10.1673
2125 0.1233 0.8563 0.1056 39.1904 2.1045 ***(0.1223 0.8563 0.1047 39.5012 2.1212
2100 0.0736 0.8263 0.0608 24.5873 7.7004 *** (0.0677 0.8263 0.0559 26.7410 8.3749
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Chisq(Vertex Fit)

1 03 | Ratio = 0.95 —+— Data _ 70000
sum_Bin_MC = 66394 o 1
CutChisq_95=40 T MeRRKK —60000
ﬂ .I 02 L —— MC: IntegralOfEvents _: 50000
- - 5
Q -t Chisq(100):67939 140000
AT % Ratio:0.972781 ]
10 = '¥& 30000
= R L 1
— "1“ | RI] T
B I”I 0TI | —20000
ul |||| I .
1L “I \h [l .] | ||| ;II ﬁ 110000
: TR B | .|| l“ ||

0 1 00 200 300 400 500 600 700 8009001 000

2
xVertexFit(SOBOMeV)
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Luminosity: @Boss665p01

(For Cross section Measurement of ete— K*K-K*K")

Ecm(GeV) L (pb1) Ecm(GeV) L (pb})

2. 0000 10. 074£0. 00510. 067 2. 6444 33.72240.013£0. 216
2. 0500 3.34310. 003%0. 027 2. 6464 34.003+0. 013£0. 282
2. 1000 12. 167£0. 006 +0. 085 2. 7000 1. 034£0. 00210. 007
2.1500 2.841%0. 003%0. 024 2. 8000 1. 008+0. 0020. 007
2. 1750 10. 625£0. 00610. 091 2.9000 105. 2531+0. 025+0. 905
2. 2000 13.69910. 007 10. 092 2.9500 15.94210.010£0. 143
2.2324 11.856£0. 00710. 087 2.9810 16.071£0. 0100. 095
2. 3094 21.089%0. 009+0. 143 3. 0000 15.881+0.010+0. 110
2. 3864 22.549+0. 010£0. 176 3. 0200 17.290£0.011%0. 123
2. 3960 66. 869+0. 017£0. 475 3. 0800 126. 185+0. 029+0. 921
2. 5000 1. 098=+0. 002£0. 009
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